
 ��� ����	
 ��

� : ���������   ���������   ���� ���� :30/10 "#$   ����	
 �%	 :90 �'()�  

 �*�

+�, ��+ � ��+:   �-�
�	 .���)�+�0+
 �1�23+
� 4(�(   ����	
 6���7:17  /10  /1396   ��:$ �
%;7 :1  

 �<
+ �
	=>?�
  �@(A�7 ?��97–1396 ��<
 �B� ���:�+
�(C D ���%	   .�
�
��<
 ������� E���� � E=
	>  

F���   �G
7 ) : =�H	 I�0J K(��	 =
 .��:��
%��< �	  ()��
� �	�LM��� �< =�(+ ��

�(  ���<  
      

1   �� ���� �	
� �
���� ��� ��� �	 � ���� ����� �� ��
����� �
���� ������  �! ���"#  �$ �  %��&'

 �(
	 �' )�* ���"#  �$ �� .  

2  

2   -�
.� ����  �/
�� -��0��� ��� �	1	
0'  ���� �	
� �� .  
 

2  

3   �	 ��3� 4(  �$ �� �� ���  5
67�	                  8��9 3 � 7  �13  �37  ��� ��;< 4=	 .  1  

4             8��9 �	 -� �?
"7  �'��$ �@��                     �(
	 �' . �	��	 A��B �@�� �?
"7  ��� � 7  �(
	 �'. 

   

1  

5  
	 �	��	 �?
"7  D�E� - �@�� �	
.F �?
"7  �� � 23  
	 �	��	 5G D� H7
< - �@�� �55  �".7��3 I �(
	 �'

 ��	
�	 �� �?
"7  ��� .  

1  

6    �$ �  ��	4  �20  ���� )�  �	
.F �L��� �E� I .  5/1  

7   %��&'50  �	
.F �?
"7  �� ��� �@��200  %��&' �50  5G -��	 �@��2700  �(
	 �' . ��� ��� �@��

 ��	
�	 �� �?
"7  .  

5/1  

8   �	��	 D�E� �@�� �"O' 8P�� 
	 ����� �?
"7  �� � 64  �	��	 A�� �@�� �4  �(
	 �' . 8��9 ��� � 

 ��	
�	 �� �?
"7  ��� ��� �@�� �  %��&' .  

5/1  

9   %��&' R	�'12  ����
�	 ���	 �� �S�
7�"�! �?
"7  ��� �@�� .  1  

10   �� ��* 8�
"$ 19
F %��&' �F ��� �	 ��	
�	 .  

� = �1
2
+ 1

3
� + �1

4
+ 1

9
� + �1

8
+ 1

27
� +⋯ 

1  

11   ���� �"�
T' �� �"�U' �?
"7  ��� - �@�� 4( %��&' .  1  

12   ��	
�	 �� ��* 8�
"$ 19
F .  

A = 2�	
5 + �	
4 = 

1  

13   ��	
�	 �� ��* 8�
"$ 19
F ) .log 2 = 0/3  (  

� = �	
 √44 √23 √5 

5/1  

14  ���� 1F �� ��* �����
X? �? 
�' .  

�	
2 4
 − �	
2(
 − 3) = 3 

5/1  

15   �	��	 -� �?H?* Y��� ��(  �*G -Z�7� ���0' �[�2×1013/4  �(
	 ��Z . ��6�� \.F �	 �� �?H?* ��� 8��3

 ���� ]
.F .  

5/1  

 ����� ��	�
 � ��
�– ������� ���  

 5�( -�^� *� ��	 ��7��� �' 8
��� �'
�=�
< ���
6' -��	24  ��_
'�! �����' ��* �
[�  �	 5
T�'� 5
'* *� �$
� :  

aghlanian.blogfa.com          �'��X@� �
7
� :@easymathh 
 

���������������� 

�� = 3� − 1
2

 

1 + 2 + 3 + 4 +⋯+ � = �(� + 1)
2

 

www.riazisara.irاز سايت رياضي سرانمونه سوالاتدانلود


